The following image shows two plate elements.
Element 1 has 1, 2, 3 and 4 as the four vertices, while element 2 has 5, 6, 7 and 8 as the four vertices.

Now the two elements do not share same vertices at the two ends. This is called improper connectivity of plates, where the vertex of one element lies on the edge of another. 
You may check it from Tools ( Improperly Connected Plates.
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This may be removed by breaking the plate 1 in parts such that no vertex of a plate lies on the edge of any other plate.
One of the examples may be seen below.

The plate 1 has been broken into three parts, and now all the plates share common vertices.
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